A kBT . ?ﬂ‘ I
- KEF oy 8170
QUESTION ﬂm‘ﬂ L o % |

This question paper contains 170 question$. 'ﬂ g . i
pape i ,,md*wm AT e

All questions are compulsory
One question carries half mark only. /7%

T74
uun 2 wn

Maximum Marks : 85

Time : 2 Hours

1.

T

Gneiss is a type of

(A) lgneous rock & !

(C) Metamorphic rock ()

15| yaw wwn k : ﬂm’?mﬂ #a (D)

(A) sryadm (B) FHawd) fa (C) Jlope i8 | in 19600 and the
or surface ins the same znd the

The stage in a river is 4.8 m, the watef * ) .
discharge in the stream is 450 m'/s. If ﬂj’ghﬂs': in !.h" stream %1ll be
waler surface slope is 1 in 22500, then the ¢! i g | faada 450 m°’s
U% 74 F a1 4.8 m ¥, A AR 7T Img;mg'ﬁ}mﬂhmm :
af2 7@ e e & 3R e a7 22500 om¥s (D) 120 m¥/s
(A) 420m¥%s  (B) 450m¥s (C) 4 the same speed of 150 rpm
Two geomelrically similar pumps are running ald :9 0 m respectively. First
and lifting water against the heads of 36.0 m an Tl;c impeller diameter of
pump is having an impeller diameter of 40 mm.
second pump shall be -
D) None of these
A) 280mm  (B) 240mm  (C) 120mm _ ( of
nfifie w9 @ §HF 99 150 rpm 0 7EA MMA T rfeefier & sl 3 = famg
;36,0 m 3R 49.0 m T It A # | TR T H PEER ST 240 mm

R | gwt wH T e ST L
(A) 280mm  (B) 240mm  (C) 120mm (D) = A w1 T

Which of the following condition must be satisfied in the Hardy-Cross

analysis of p{Bc network ?
(A) Darcy-Weisbach head loss equation.
(B) Momentum equation must be satisfied so that the force in each loop 1s

balanced.
(C) Continuity principle demands that flow into a network junction 1s

equal to the flow out of it.

¥4 3 F78 T

(D) Both gx; and (C)
TR e % -1 e 3 Pt 38 o v s e

(D) (A) 3R (C)gHi

— T—




.m}i,ist —II (Flow condition) and sele.;l the

fcur‘r"’} w:,,;u below the lists
correct answer usin LIS' -1 drop occurs
List-1 | pyd® Lgr profile

a. A, -!.- Bﬂc:eupward in dirﬁf‘;iun of flow
b. H3 S Slop* . iump ocC y
¢ M byt @ gt AR M 5 5
d. S§2 Y
g | (a5 ) :
Ry e @ WO I T p I "
i 1 ﬁ“’é’aﬁm -
i s 4 YRR
Codes /%2 : d |I
a b c ,
a4+ 1 2.3
B 2 3 4.,
(C 4 3 !
3 4. 2 |

bridge constructed to a scale of 1:10, the force of

In the model for a highway as 10 N. What is the force (approx.) on the

water on the pier was measured

ier 7
0 s o fiffa o g 3 ore e & et W et 2@ 10 N /91 7 |

IeTeTsq WERy T aet (7)o ] 2
(A) 10kN (B) 100kKN  (C) 1000kN (D) 10000 kN

An airplane is cruising at a speed of 800 km/h at an altitude where the air
temperature is 0 °C. The flight Mach number at this speed is

T FIOES Uh ST 9 WA 0 °C B, 800 knvh %Y &I 31 & I
@12 | 38 T W IGEH A% TR R PR
(A) 0.67 (B) 025 (C) 0.5 o 12

In constructing a 6 hours synthetic nit hydrograph for a basin, the lag time

is estimated to be 35 hoyrg When w ! ©
= 4 e . IJ
unit Hydrograph oceur fropy iy n mgt!jti :h; Eri:]f? discharge in the synthetic s

%)i:g?h;u% Gﬂ(]“agd:é-ggm (C) 32hours (D) 35 hours
) e & | G e D W ARG % FYfor 3, Gy oty 35 TR
(A) 389 (B ﬂwﬁﬁmﬁwmﬁiﬂmaﬁ&ﬁﬂﬂqu?
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W in
rared SO o nent area is | o), Shape
é" / A t?limf:ul nmctgfgﬂhﬁdrufm;;li d?[:l ;S gﬂr]:'ffmg catchm 000 km?,
= W] an 0 '

I'.h:: ufgfecﬁgi rainfall of the storm is Wﬁﬂ( ¢, et 3“111%{ ,E'ﬂ h 3 ¥ind
et w13 % HROT TH JYETE SR ﬁﬂramuiqlt -

150 m3/s & | af2 JmaTE &= lﬂﬂﬂkmzt{rgh‘?ﬂgm (D) 21.0¢y

B) 0.02 ' .

(A) 2.1cm (B) I cm field for 3 hours. Soil Probing
in the FOOt zope,

as n‘iangular i

(10. ) 15 m¥/s of water is diverted to a 30 be° had been StO
/" after irrigation showed that 0.4 m of water uld be (nearly) :
IGE 1D

Water application efficiency in this case W0 ST |

15 m{r’s%ﬁﬂfl 30 RHR I &7 § 3@*%%@%1333 ng'gﬁ;.légg

wﬂmz%fmrﬁ%ﬁ 0.4 m 9 g &g & ara

(Frm) &) : 70.0%
___(A) 7407%  (B) 66.6% (C) 65:6% (D) 700y

is 0.6, then whal.pen:ﬂmage

i1 /iy itivi SR le _
Wby the sensitivity of the irrigation modu Yaria
Cz/;aﬁaliun in uulltzt discharge xgﬁllcﬁe caused by 60 percent lion in cang]

watie{‘_;!‘?ﬂ‘-? 3 n_ﬁg,ﬁmﬁmﬁﬁﬂmmwm

‘ol TRy
- i it & 2 -
~(A) 60% (B) 100% (C) 66.6% (D) %0% >

. dam of elementary profile made of
‘concrete of relative density 2. r:::lwsafc'allnwab_le stress of foundation
material is 4.0 MPa without considering uplift force is about
I e Y W § e R 4.0 MPa mﬁﬂﬁﬁmﬁ:ﬁﬁmaﬂt
2.5 Imfes T el W @ @ T F P e aiv

Aftrray F=rd amm & -
(A) 116.5m (B) 120.0m (C) 100.0m (D) 1105m

13.) Assertion (A) : Tapered flocculation is more efficient when compared to the
. i:tunvent:?ﬁ:i] pliucess of guﬁculal]inn.
eason : In tapered flocculation, veloci 1 inlet i
than that at the uutle‘twuf the flocculation unit, BRI ot thie:inlc s los
%A Both EA; and %E are true and (R) is the correct explanation of P]-
t

12.  The maximum height of a low

B) Both (A) and (R) are true but (R) is ;
Cg fﬁ. is true but (R) is false. (R)is not a correct explanation of (A).
D) (A) is false but (R) is true,

e (A) : FOF Y TR SR R qem i v 3
SR B

(A) (A) M (R) Tl et & 3iR (R), (A) F0g

(B) (A) 3R (R) 2 w8 &, Rorg (R), (A) 3y s I & |
© (el g (e R
(D) (A)TA R, Tg (R) W2 |




14!

15.

16.

absent in drinking water.

shoV iaste to the water.

. Jes .
;-“lrtlnn (A) =h‘l-':r|i‘;l give sal d(R) is the correct explanation of (A)
eason (R): C §(R) 0 e :ﬂ (R) is not a correct explanation of (4
(rue

(A) Both (A)an
(B) Both (A)and (R)& oy
(C) (A)is true but (R)

(D) (A) s false but (R
aaﬁ-q:{q:im " e 1 AR @Rt

(A) (A) 3 (R)
(B) (A) (R
(C) (A)wdi g, wg(R) R
(D) (A) T d, wg (R)

Slud - bgcuun'nlleﬂ bi' o |
(A) gt?uiﬁa?u?{ﬂ; Chlorination (C) Denitrification (D) Aeration
‘ Praifire Fo1 1 GherT € 2

FHTYF GoH1 fohaah gl
Sl @) e (C) femediwmr (D) 1T

In a high rate trickling filter, the problem of ponding can be solved by |
(A) Raking and chlorination (B) Chlorination and supply of air
(D) Raking and air

(C) Flooding
I 20 T Fhoet & 9 999 ) 99T Y &6 FRaT ST gl B

(A) a9 3R Feriiw 2 (B) it 3 arg i g
(C) 3remE= g (D) 949 3R I g

+ The co-efficient of average rolling friction of a road is f and its grade is
+G%. If the grade of this road is doubl

ed, what will be the percentage

change in the braking dis_!anr.:e (for the design vehicle to come to a stop)
measured along the horizontal (assume all other parameters are kepl

unchanged) ?
(A) 0.01 G x 100/(f, + 0.02G) (B) 0.01Gx 100/(f,+ 0.01G)

(C) 21 x 100/(f +0.01G) (D) None of th
T WSS H1 A6A Feer T 17 £ R adk o
1 TH 0T +G% ¥ | AR 79 9T =

2 g R o s R, o dfs TR He
i g (e 3 317 3 foe e
g ) e st afea & (R 3 ) et et
(C) 2f,x 100/ +0.01G 01 G x 100/(£, + 0.01G)
L—Eﬂﬁﬁﬁ?ﬁ NS
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18.  If the path of an irrigation canal is b#'“:’;cd is
the type of cross-drainage structure pro¥! super
(A) Aqueduct (B) Sluice gate (€ ﬁ:ﬂ‘a E
q&mwrfm-;rwfmﬁm um % 7@ i
HEAET &1 TR W SLOE
(A) Serdd B) wmah (C) e

10 . low -
| 19. The interior angles of four triang|es & given be
Triangle Interior Angles
P 90°, 40°, 40° m
Q 90°, 55°, 20° -
R 110°, 45°, 35°
S 140°, 40°, 25°- BB il -
Which of the triangles are il|-condition¢d and should be avoideq i
Triangulation surveys ?
(A) Both Q and S(B) Both P and S (C) Both Qand R(D) Both P ang

assage (D) Levey o
| A e T ﬁ‘“"'%

R =t i AR o o & -
By a=fes wion

P 90°, 40°, 40°

Q 90°, 55°, 20°

R 110°, 45°, 35°

140°, 40°, 25°

S
1 & g wigfer & o rtor gor § 2rem STRY 2
(A) Qa3 sadt (B) Patesadt (C) QMRTM (D) PahQami

A concentrated load of 300 kN is applied on an elastic half space. The ratio
of the increase in vertical normal stress at depths of 3.0 m and 6.0 m along
ussinesq's theory, would be

the point of the leading, as per Bo
300 kN %7 ¥ WR ey ard 28 7 g R | qRE g & aan o
firg % TR 3.0 m 3R 6.0 m F TR W FEhR Hffkd wivaw R e @
3T B
(A) 4 (B) 3 (C) 6 (D) 18

%; A soil has specific gravity of its solids equal to 2.5. The mass density of

~ water is 1000 kg/m?, Considering zero air voids afid-10% moisture contenl

of the soil sample, the dry density (in kg/m3), round of to 1 decimal place

would be
v gar & 3o el w1 fafie o 2.5 1w g R
3%?‘% Wﬂﬁﬂﬂﬁlﬁﬂﬂkymﬁ@

(B

3 1 A 10% A, W 7 (/i3 ) (1 2

o (A) 2000 (B) 2200 © 20505 (D) 1000 ___
4 W\ R —— o /Serles-B
yd e e 7 77N CodeNo.: C-685/2021/5¢
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i at mf A
22 cis oy ﬂc l:ndmll:'ldlﬁlu:h: Innguudm‘.m":ﬁ
* A column having rength flhf d@s-wumﬂ along Al ay,,
load p i acting ghrough ¢
The smallest el b [:T -
L Py o ow NN ﬂ*ﬂ
Wﬂ-mﬂﬁ'ﬂﬁ 2 (C) :HIEIJ‘L: ‘
(A) =pra? (B £ |
ile of 10 m length and 0.5 m diamete,
it cohesion of 100 kN o,

2 A remforced concrele ﬂn?""‘ p‘lﬂ undrained un .
cﬁmﬁd » i}jmui; ;i;' The Net Ulumate pullout (Uplift) Load for 1,

¢ adhesion factof 18 £ og) place) 15
pile (in kN, round off 1o | dw““" - .
lummﬂjmnjmﬂmﬁﬂmmaﬁawmm m?ﬂ‘h
100 KN/m? & | THEE T 0.5 % | T F b

[ rer— s, £ e
v ﬂni.ltf’awamvlaﬁyt-
(D) 750.0 kN

2 Wy fawdo (3) W1
(A) 150aN (B SSAi] (C) THOOMN
24.  Match lists :
I...l;“-'l L.I'!t'"l[

Soll properties/content In wearing Percentage

coat of earth road
a. Clay content 1. 41010
b.  Silt content 2. 51015
¢. Liquid limit 3. 10to 18
d. Plasticity index 4. <35
Wﬁﬁ'ﬂﬂ:

gt - | -1
= g & T A 5 T/ s
a. yfere az® 1. 4¥10
b. TR Uk 2. 5415
c. mHEm 3. 10818
d. SeTEdAl gEEE 4 <35
Correct Code:
T ¥

(A) a-1, b2, c3, d4
(B) a4, b-2, .¢3, d-|
(C) a-2, b-3, ¢4, d-I
(D) a-3, b2, ¢4, d-l
. C-685/2021/Serles-B e

ode No.
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26,

27.

28.

_ velocity for skiddip

.' ‘ ' im - ains at
A vehicle weighs 50 kN when empty. It5 ™ n centroid rem  the
a curve js *v". If it is w:ighing mﬁt’kﬂ ’nr;t:-l;kiddiﬂﬂ on & curve |y ¢

height when loaded, its minimum velocity '""ocaer ¥ fore e
mgtmmmm!’ﬁm summcil “Wﬁﬂﬂm!?qmm;
“v' § | af 78 100 kN ¥ S § fred
MQlﬂtﬂﬁﬂﬂ?*f@wai“t (D) v
(A) 0.5v (B) 2.5v © 1Y - the it

: e critic ;
In the design of isolated column footing of thickness t section
from the consideration of single shear i5
(A) at column face. g & 07
(B) at distance d/4 from the column face: ot

(C) at distance from the face of column.
(D) at distance 4 from the face of column.
4 Terf 5 e T ST i ot 8 T T R R

ufresz g &

(A) RO HeTH T

(B) Wi %E® & /4 gl ™ E
(C) =% %o & g N

(D) R & % Ad G W

As per IS 13920 : 2016, in the calculation of design,shear force capacity of

R.C beam, the contribution of the following shall not bg;considered :-

(A) Concrete in R.C section (B) Bentup bars
(D) All of these

(C) Inclined links
IS 13920 : 2016 % 38R R.C. ¥ & s Hrwaprae smwen & mor &

fore =1 diem & ff feva a .
(A) R.C.uR=dg ¥ e (B) Ty vs
(C) 3ma forw (D) Intrw wft

28. ' As per 13920 : 2016, minimum dimension of column shall not be less than

(where 40 d,= diameter of the largest Iungituld_jp#] bar in beam)
IS 13920 : 2016 % FFAR VAN F1 A e v sy ff ey e (K1 40
dy, =917 % Twd ) 30 v F1 =)

(A) 204, (B) 404, (©) lﬂldh (D) 154,
9 e — e eries B

: E‘\}-lm-ﬁu. 5 C-685/101 I/5e



ade of structural concrete shall be M2, by,
g

'nim““' >

29, f&, per |392[];.2{|']ﬁ- mi : ﬂ";un:s.
M25 for building, ., heigh! f: i, 1V & V zones.
(A) More than I 1.0 heigl". i1 zone only.

(B) More than 1371,
5 N e e 1 B a1 Mo
& N

13920:2016
e 11503 3

(A) Tt o 3 F0 15m
(B) 11, wmviﬁ“‘ﬁﬂaaﬂ*

(C) Fam AR AdaEA 15M
(D) ¥if @ wrf 7l .
the extension of

30.  As per 13920:2016, the transvere reinforcement in column,
! per - '
hook shall be '(B) = 10d but not less than 100 mn
= than 65 mm
:{:g; = : :::: :E: ::lhlﬂ gomm (D) ﬁN;:: ﬁolf these
_ e Yaer #,
fli}g zgﬁlg 65 mm d P (B) ;1}1 Uﬂd‘%‘?%ﬁﬂ mm 8 w1 ]
D K,
- © =6dwg 60 mmaw T (D) B
31, As per IS 13920:2016, minimum width of beam shall be \{ \

<"1 13920:2016 % s 1 g <hgré @ -
| (A) 200mm (B) 300mm (C) 250mm (D) 230 mm
32//" IS code used for design of earthquake resistant design of R.C building is
/" v Ot R.C. i & e & o e IS e R -
[ (A) IS 1893:2016 Part] (B) IS 1893:2016 Part II
(C) IS 1893:2016 Part II (D) IS 13920:2016

7’ Two angles ISA 60 x 60 x 5 are welded with gusset plate back to back. The
size of the weld is 4.5 mm. The effective throat thickness is

3 BT ISA 60 x 60 x 5 3} gy e e @ A Faa an & | Aew ) W

4.5 mm 2 | et a3 s )
(A) 3.15mm  (B) 45pmpy (C) 4.0mm (D) 3.5mm

) :ﬁ:;ﬂd:i;;d“mhl:;ﬂrﬂft} two plates 180 mm x 18 mm. Find out the
| A= 180 mm x |38 mm;#'f’“ﬂ subjected to a moment of 13000 kN-m
ﬁmwmﬁmwlmﬁ@*hﬂﬂﬂmuﬂWMWt Esk
(A) 165N/m2  (B) | % 13000 kN-m 3 & areft § |
BUNm? (C) 140 N/m? (D) 135.33 N/m?

fe No. : C-Eﬁlﬂ!lm s ——
. -ln _\:L,L r€~ l' ‘:.:'"I., .'.1 ,1"\




38,

36.

_'_.-""-.'-1
6‘_1/

38.

39.

and |ength, because

Tubular sections are most suitab |1 loae = . ction.

(A) The tubes have same ::::lils E:c:)::n;nn in all direction

(B) Tube have high local buckling strength-

(C) Tubes have more torsional resjstance:

(D) All of these § it

Y MR s e & R TR qheagz @A 500

(A) mamfﬁmm&mmmﬁ“' !
(B) ferewr & 3w v same wmme g & " T NS
(C) =ftre # srftres T== witkda W | E q{}”ﬁ

#

(D) Iy aft
ot the base and carrying the wires

An | section electric pole of length L fixed _ ot s
parallel to the road. The effective length in pmpcudmulﬂr ;m:ctlﬂn is
L ‘sreamé w1 1 %72 frareh =1 smup o o & I EEE F TR A R

e & | o fm & st wamd @
(A) 2L (B) 0.8L ©) L (D) 05L

“A tie member has transmit a pull of 300 kN. A member is connected to
12 mm thick plate with butt joint. The permissible bearing stress in rivet is

300 MPa. Bearing strength of one rivet will be
U A HEG 300 kN %1 HH0 @afa e & | 3899 12 mm W =R T

R gt R | Feldz ¥ argir amor sfvet 300 MPa & | T Rele W O gwan a
(A) 77.4kN (B) 80kN (C) TOkN (D) 754kN

Grader is used mainly for
(A) trimming and finishing
(C) finishing and shaping
e syerer s fan
(A) fftm stk Bfafiim & frg (B) 3 otk Rftim 3 fore
() Hfafim sk 2t & frg (D) iR, i aik Rfim F e

The units in which both sedimentation & digestiop process of sludge take

places simultaneously is |
(A) skimming tank (B) imhoff tank (C) detritus tank (D) digestinnmﬂk

v forerd Tl ) TEIe i T SR 3 v ey ey
(o) 7R (B) VEwE  (C) Wmgve (p) g
_ LY

1 Code No, ; G-gasoni/seri®*”

(B) shaping and trimming
(D) finishing, shaping and trimming




TN . 90 x 40 mim, length = 23

Y. cross-section : n

(\40,7/;‘ prismatic bar with recta? g;;lrﬂ; of 70 kN. The mﬂsurcd elongAtion Of by,
is subjected to axitl ensiof irain ?

1| be the S 06 (D) None Of the,

e
mmﬁﬂﬁtﬂaﬂﬂtl.zmmilﬁ?ﬁ‘ :
ot () as0x10% @ ¥ A By

~ s,
(A sl "1:; mtc) f; 2 ®
?ﬂx4n_mmaqmﬁﬂ3ﬂi"”‘ ’
Ny 7 et 5 A0 & 1 BT

(A) 420x 106 (B) 400%

4L The desirable camber for stral
Bravel| surface, is ‘ .
(A) 1in33 mllinZS (B) 1Iqm 40;::111.;1 33
(C) 1in40to1in50 (D) None oft
Wﬁﬂmmmmﬂﬂmﬁmﬂ;mm#ﬂ?
(B) aof 18337 ,-;-r;;
. Yo

ght roads with Watef bound macadam

(A) 33#1@25%8 1
(C) 408 1d50% 1 D) FHAFETE

42. Total population of H.P. as per census ?DII is 5
SETRT 2011 % TR .. B e TSN L :
(A) 6864602 (B) 7072702  (C) 7274804 (D) 7476928

I ¢ '.,;_111;

A

43.  Which is the largest natural lake of H.P. ? AL~
(A) Gobindsagar (B) Maharana Pratap Sagar ’_;,:_air'
(C) Pandoh (D) Renuka i
Ry, B v v TR YA A R 2 )
(A) MRZETT (B) WETVT N9 HIR
(C) vZIE (D) W . 1’ (

44. Laddarcha fair is celebrated in which district of H.P. ?
(A) Kinnaur  (B) Labaul-Spiti (C) Chamba '
argerat 3wa .3 & B At f warr s @ 7 " B h

(a) B (B) "Rw-wfifr () wn D) T

Suketi 15 ll;r.. tributary of which river of H
(A) Satly (B) Yam un:‘i-"er G(C}ZP].;&S

g f&.3. ﬁﬁm:@ﬁmﬁi : (P) Chenab
(A) HaGS (B) g ©) = g

Gode No. : C-68572021/Serles B 53
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46
*  Dodra Kwar is located in whj h dictel me_p,'}'* D) K
(A) Chamba (B) sﬁ,‘.‘:u d:smfic) Mandi (D) Rangra
Wmf&m.tﬁmﬁﬁﬁm“ i, ¥
(A) = (B) frgern ©) 7og!
47. :ﬂlich was first Hydel Project executed by the H.P. Governmen f, the
ocio-economic upliftment of tripg] le ?
(A) Rong Tong e pﬁ;l; Karchham Wangtoo
(C) Nathpa Jhakri ) Chamera
mﬁ%mﬁm_mm{%mﬁ.n. mﬁ‘ﬂ"'ﬂmaﬁ
gforn waifRm 6 2 |
(A) Tm 2 (B) FHOH AT H
(C) g gt} (D) ¥
48. Battle between Bilaspur and Hindur princely states took place in which year ?
ﬂamgtaﬂtﬂz;ﬁumﬁtmgzmuﬂaﬂ
(A) 630A.D. (B) 680A.D. (C) 720A.D. (D) 790AD.
49.  Datarpur princely state was founded by .
(A) Hari Chand (B) Ghamand Chand
(C) Sibram Chand (D) None of these
Frany Paraa ) v feaa 6 2
(A) ®== (B) wigs  (C) frmmw= (D) wHaAwEd
50. First Vidhan Sabha of H.P. had how many members ?
5. &) wuw fym-awn § e aga 2 2
(A) 36 (B) 42 (C) 52 (D) 68
51. Which was the former residence of the viceroy of India ?
(A) Petterhoff (B) Bames Court
(C) Kennedy House (D) None of these
W % AGETE 1 YA Fam ®E |
(A) s (B) wig#y
(C) ¥ E8 (D) % 3 o
BT CoarNa s Cgasaumieie?




H.P. first came i
(A) 25m January, 1948
(C) 25m 1y, 1950 i sfeve § A

fa.y. mmﬂmﬁﬂ B) 15 i, 1948
(A) 25 aft, 1948 (D) 25 e, 1950
(C) 25 e, 1950 5
tric projec
53, Which is the executing 8gency of Bhakra hYdI‘U'CICG P

ﬁﬂmwﬂﬂﬂiﬁt?
HTEg Srerfinga qftio ©) BBMB (D) NTPC

(A) HPSEB (B) NHPC
nHP.?

34.  Indus International University is located at Whicl? place p) Indora
(A) Waknaghat (B) Batu (C) Badd! &
ﬁﬂmmﬂwm._ﬁﬁwﬂﬁ“w”

(D) ¥R

(A) Tamare (B) WY (C) &

55. H.P. State Consumer Disputes Redressal Commission started functioning in

which year ?

.3, e It framg farm s 3 e a3 ol e e e 2
(A) 1985 (B) 1989 (C) 1994 (D) 1998
56. ‘Country Life’ book was written by
(A) Shanta Kumar (B) Bal Govind
(C) G.D.Khosla (D) Norah Richards
‘) ATEF T e forht 7
(A) YT FAR (B) W Mfy=
(C) & W (D) re e
7 Which mnhajanapaid;)was a confederacy of eight republican clans ?
(A) Vajji Kashj (C) An
= T AEIG TS R 39 357 ey oy 9 ¢ (D) Gandhara

Ff (B) wreft '

(A) - ) (C) am
.—----——”'-_'_-_-_‘-_‘_-_ __-_--------_
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. -kandﬂl'i ?

58.  Which Delhi Sultan i .i-Si
(A) Alnuddin Khilji e 1 Fig) BN pese
(C) Muhammad Bin Tughlaq oy N2
T -u-fml Rem Reeh HeraH imﬂﬂﬁm
(A) resgd Reersh ® 'ﬁﬁqﬁ
(C) HEE-Tom T (D) w ,
- try
59. A. Nikitin, a famous travel| ed 10 which €© M
(A) Russi;ﬁ.; qéﬂ) ‘;:al:rr o q portuguese (D) Moroeeg
(A) ¥ FAAR S A
60. Who gave the concept of Vishishtadvaita ? : .
et (B) Ramade (c) Ramanand () Ramania
fafrerea ) decan fra & 0 )
wwm @ wee | © FR O T
61. Battle of Plassey was fought in which year 7
wrd f wed fFr it Fd w0
(A) 1757AD  (B) 1764aD () 1917AD (D) 1930AD
62. Which planet has fastest revolution in the solar system ? |
(A) Mercury  (B) Venus (C) Earth (D) Mars
farq 7 3 diwvea & wwd A ufeEm R 7 |
(A) q¥ (B) T (C) T (D) w7
63. Which inert gas is present in the Earth’s atmosphere ?
(A) Argon : (B) Neon
(C) Both (A) and (B) (D) None of these
oAt & argevee i B € s T sufim ¢ 2 w
(A) A (B) R |
(C) (A) 3R (B)THI (D) ¥ A wrd 7
64. Black Rollerisa
(A) Anti ballistic missile (B) Missile D t
(C) Submarine (D) Luc,;ll ;infifcnce P
=% T &
(A) T iR e (B) Pramser e womeh
(C) Tg= (D) wurirg qaq
- e iy
s Code No. :_E-ﬁﬂﬁﬂﬂllr&rlrs-

i
—



68,

67.

69.

70.

———No.: C-6852021/Series:B .

which industry ? i
1lhlII'IEl':li"t"'ztsh‘.:I]( {Rl.'lﬂi!] is rﬂmﬂi:::ﬂ (C) Ship building (D) D airying
n

(A) B) lro
Kerala ? Kanchenjup,,

Which i : of D)
m}mﬁiﬁ: lsm::?vﬁﬂaimudi (C) Dodda Betta (

L e e LK T

First S i i
irst Sikh President of India was (B) Giani Zail Singh

(A) Dr, Manmohan Singh o
(C) B.D.Jati (D) V.V.Gir
W & o R TEafa @ - |
(A) . wines fiie (B) et fi
(©) & weh ) @ Al

Which Indian state has only one Rajya Sabha seat /
(A) Manipur  (B) Goa (C) Mizoram (D) All of these

Re Wy T 3 e G T EWT HiE R 7
(A) TP (B) T (ORLELL] (D) Fad

Which Article of Indian Constitution states the establishment and

Constitution of Supreme Court ? |
(A) Article 124 (B) Article 162 (C) Article 224 (D) Article 262

W WY FT $H W F{=0E gard A H weE i e & i
qara & 7

(A) T 124 (B) IR 162 (C) 3TWT224 (D) e 262

During f"’hi“h Five year plan period Indian economy entered take off stage ’
(A) Third (B) Fouth  (C) Fifth (D) Sixth
mmﬁmm#mmmmmgnmmﬁ
T g ?

(o) dd (B) e © Wt (D) A

e i— ——

Code No-



71. Yojana
}iz:c':nm:nthas introduced the *ge(; Bachao: B padhao N Which
TR Y A w=nah, I8 wgan 3 g 1 7

A o s T (D) 2018
(A) 2015 (B) 2016 (©) 2017

72. FEMA was enacted in which year ? ﬁ
W (FEMA) e o & srffrairs o 2
(A) 1991 (B) 1994 (©) 1996 @) 129

73.  In liquid and gases transmission of heat takes place bY which process ?

(A) Conduction (B) Convection (C) Radiation (D) None of these
78 T Mt # Fen dw e sl g 7
(A) =™ (B) waw () R (D) ¥ A Hrf 7

74.  Which of the following floats over water ?

(A) Sodium (B) Potassium (C) Calcium (D) None of these
Pedash o wammi? |
(A) Hifem (B) Mfrm () HR@W (D) WHAFH A

75. Pemicious anaemia is caused by the deficiency of which Vitamins ?

(A) Vitamin A (B) VitaminB,, (C) VitaminC (D) VitaminK
uras Wareqa feg R fi s agma k2
(A) fafm A (B) @B, (O ffmc (D) faefmk

76. 100:121::144:7
(A) 169 (B) 196 (C) 225 (D) 256

77. If the 2™ half of the English alphabet is written, in the' reverse order, then
which is the 15® letter from right ?

”\1 af 3 ﬁmmwwmmﬁmmt.ﬁzﬁﬁlﬁym?
) A) J (B) K ©) L
T

Code No, : C_6857021/5¢ries B



79,

32,

by I 11 by 2, 10 by 3 and so on, lhc"“’h:u
rgplict'd nﬁFo“di"g to ‘twenty minutes past "Utt inh:'r' ‘

If in g clock, 12 . [ock € %
be the rime in e € F inutes past ten

7 jeven (B Forty min
Usual clock L 0 (D) None of these

inutes P** g
(C) Forty minu 79§ #""’
Fp® ) 1w o e @ w0,

a2 o
Ty 3, @ bt (B) T® W STeiE fire
(A) ey w41 (D) vt &

(C) mareg et A 10
mhang: from - to +, + to +, :"'::H"'_'ﬂ-l'ld-!-|_|'-”:I

. 1 elons I0 .
1 the matemsicl 485 e ofthe given equaion ?
en which 1s
6+3+2H’5—3’? +ﬁ+ﬁ'xﬁ_ﬁm+ﬁxﬁmﬁwm

ﬁmﬁﬂ-ﬂ"'ﬁ' | FEi

6+ x§5-8=7 ~0 .11':

R e e syl AR 7 S

(A) 18 B) 27 (€ 28 () =
‘Har Ghar Nal Yojans' has recently implemented in which Indian state 2
(A) UP. (B) Gujarat (C) H.P. (D) Assam
W T 7w Ao g e e e o e 2

(A) 3. (B) T (C) faw. (D) &
Which Film is India’s official entry for the recent Academy Awards ?
(A) The Disciple (B) Shakuntala Devi

(C) Jallikattu (D) Chhapaak

(A) ZfeRmm  B) ez () g (D) B

Which state has recently passed ordinance to ban unlawful religious

conversions for Mmarriage 9

(A) B B) Tamil Nadu (C) Goa (D) UP.

R 799 3 1 03 e g e s i ) e 8 5 P
?




87.
88,
89.

90.

91.

——— 19 &

The martyrdom d * ; was observed in the Mon
November, as ‘Sh:hl;e?jfﬂﬁ:h Sikh GuT bind wof
(A) Guru Tegh Bahadyr L ®) Gur Hargobin

(C) Guru Gobind Singh D) GUI'URHPQ?; #

o e 76 % W12 o o g i 1 TG T
(A) 175 ¥ e B) T

(C) oM fire (D) T

Which is antonym to ‘Striden: :

(A) Stable (B) H::;nlts ! (C) Musical (D) Melodioys
One word substitution for *A hino 1iable to be €asily broken’ is

(A) Breakable (B) Ducﬁt]]:rlg ha(ce] Brittle (D) Delicae
Meaning of the idiom *To take e by storm’ IS

(A) To put people in utter surpi? i H

(B) To captivate them unexpectedly.

(C) To exploit people’s agitation,

(D) To bring out something sensational attracting people’s attention,
Fate smiled him in all his ventures.

(A) upon (B) on (C) at (D) over
Hran § wamE R

A) T (B) ¥y () Wk (D) v
‘FNAT 1 TgigaTHt §

(A) s (B) #@ (C) ¥m (D)
‘ot @1 BT HRTE R

(A) Tordt Ffem wma i e 7 € 99 @ wEe

(B) ez

(C) IETEEN BT

(D) ferfa &

I ¥y

(A) ¥ (B) = €) sk (D) ¥

Code No. : C-ﬁﬁjﬁﬂ?ﬁtmrB



92,

93,

rdillﬂt: 5}'5":3[1']

Bar chart is[ﬂﬂJ i (B) L‘ngfhn:s#
Eg} A pictoriel cHE% -y pendef®l®> "
") Unable to depict *
wh. @) AREETT
(A) farfrg wré < i @ (D) L
) gsure of the flowing fluid at any Point s

Cavitation will take place i of the fluid.
(A) more than vapour P’ﬁsmﬁh; fluid.
(B) equal to vapour pressure @ fthe fluid.
(C) less than vapour pressure ©

(D) None of these 2
ﬁmu}muﬁtﬁmm?"mﬁﬂ;%#wm#m

(A) et & aeg z @ IS
(C) e ¥ arog g @ ¥ @) FAwE
sand sample 16 cm length and

| A constant head permeability test was run on head of
2 oy : : 40% under a constant ot 30 em,
cm? cross-sectional area. Porosity was '4_ Calculate the secpage velocity

the discharge was found 45 cm’ in 18 second
60 cm? 3wy~ §7 AN 16 cm AT T4 wt fRr i TR S

R T 1 30 onp fok i 3 Ve T 40% o, P 18 TS H 45 oy

T Ty | frge A &) e
(A) 10.42 x 102 ¢m/sec
(C) 1.5 x 102 cm/sec

Maximum spacing of vertical shear stirrups as per IS 456:2000 is (where d=

effective depth of beam)

(A) 300 mm only

(B) Minimum of 0.75 d or 300 mm
(C) Maximum of 0.75 d or 300 mm

(D) 0.75 d only
1S 456:2000 % FFHR SN ST Je7 1 S e & (Tl d = 49

#1 Tt TET)

(B) 4.17 x 1072 cm/sec
(D) 1.0 x 102 cm/sec

(A) %56 300 mm 'y
(B) 0.75 d 1 =799 31441 300 mm - ‘G4&- \S
(€) 075 4 3300 . 1
(D) *aw0.75d - - S S
- (T
. C-685/2021/Series:B Yl \f\& Eﬁ,} - #;»'L

ode No.
‘-"Li 1-/ oy



L ' r mm "
96.  The ratio of energies imparted 1o 5o} sample i" standard procto Paciigy,

test to modified *
] proctor compact; ’ R
m Piction test 1S - W M qﬂwﬂ:—f'\

T wiie

8 S ﬂmT R e 0.55 |

(A) 6 (B) 0.22 ) 45 o = %
97.  Maximum discharge through a cireylar channe! iakes place when depyj,

flow is equal to e _ r

(A) 0.95 times the diameter B) 0.3 times d!'mﬂﬂr

(C) 0.81 times diameter (D) 0.5 times dm::'::'t AR

TOTHT At & TS T Fey g grare TH |

(A) = % 0.95 oM B) =@ H 03TV

(C) =@ ¥ 0.81 M (o) =@ % 05T

n a body, we must know

98. In order to determine the effects of a force acting ©
(A) its magnitude and direction of the |ine along W
(B) its nature (whether push or pull),
(C) point through which it acts on the body.

D) All of these
ﬁnnﬂmﬁﬂmtmﬁﬁmﬂitmﬂﬁ.!ﬁmﬁm“"h
(A) ¥ TR 31 Y ) fam s wre 7w A & |

(B) w#! (0 3y
TR (0 F}ng.

hich it acts.

(C) fug Fred w g w
(D) Tw®h B

99, Common sand is a variety of 1
(A) calcite (B) quartz (C) felspar (D) chlonte
HHT qIe]

() bme (B TE (O ¥wm (D)

f‘J{Dﬁ. Determine the shear force F and moment M at section 5.0 m from the fixed end

" of cantilever beam having length 7.0 m carrying a point load 36 kN (3.0 m
from the fixed end ) along with udl of 4.0 kN/m throughout the length of 7.0 m.
7 0 m FRf Fudiefat din & g R A 5.0 mHE W Aww9w a@ F

Mmiﬁrﬁq,ﬂﬂT.Dmﬁﬂ“ﬁm“%ﬂmfm%mtrﬂﬁf“ﬁ
mqum(mﬂftﬁs.ﬂm)mﬁtﬂt
(A) F=8kN,M=-8kN

(B) F=10KkN,M=-10kN ‘
(C) F=10kN,M=8kN
(D) F=8kN,M=10)N

T % P ———
S Z A TR ——— ries-B




| .
ations

- aper? 4, Ply
cll‘n"l“:“m plasting Ia”nﬂi

3, Mucking
101, consider! T"-
I Il W #

1. Dnlling rel¢ - hese operations in

§.  Placing W::“.;c AR
ameet § ' : o

. -
i SR af wa k
gﬂﬂﬂﬁ}illmj (C) 1,2,3,4,5 (D) I'J-q-l,f

) 1
; i . features/factors ;
102, anli’dﬂ' th:; ﬂ:‘:;;:llﬁ ; ”";ﬁ'ﬂnm“ type.
. Projects an no own.
Time rtquylrfzg i‘;‘gn“m*preciscl y. _
Time reqUUS. ° established for planning.

.
3,
4. Eventshave? clivities of project.
15 18 |'l,.':.l:ltﬂa. P
PERT s prfeed o paong becauseof | D) 1,2
A) |.2and4 (B) 34an (C) 1,3an (D) I,2ang;s
FEEF I A AR} |

fersrgenait /@1 T
meaﬁ!l 2.
: 4. T & ofomm T P g,

f-41% 1A & |
3. S R

5. o 1 AT
ra % fere v (PERT) 9 &0 § i &, s wmwn
(A) 1,234 (B) 3,435 (C) 1,334 (D) 1,235

~103. Consider the following statements;

/ In the bar chartgl:nnin%
I interdependence of the operations cannot be portrayed.
2. progress of work can be measured.

3. spare time of the activities can be determined.
4.  schedule cannot be updated.

Correct one is :
(A) 1,2and 3 are correct, EBJ | and 4 are correct

g.g 2, 3 and 4 are correct, D) 1,2 and 4 are correct.

Wﬂﬂﬁfﬂmﬁm

runnel construction g

3. ettt 1 i
4. @ﬁmmwﬁ%ﬁ?mmt'

wé
(A) "23?[”“‘“' (B) 13k
(©) 2,33 4mhy, o 3 aﬁitﬂﬁfh
‘ode No. : C-685/202 /Sy j——— ) L2ERATELE et
2 T



104. The slenderness ratio of lacing byr gpyould be 1655 than *

WU BF T T I v
WY F
(A) 145 ® 15 T “TE 250 @) 38
105. &:dﬂtiug may result in

) change of critical path,
(B) :_il:crr.as: of Pm:jcct Completion time. '
(C) increase of project completion time
SR T | o

& wha

(A) R oo F qitady (B) Lo

(C) e qofe wova & gfg ®) g Tl
106. The meandering pattern of a river is developed by t discharge

(A) average discharge (B) dominan
(C) maximum discharge (D) critical discharge
78 w1 Rradon et e g frfia A @ 2

(A) e Fram B) et e
(C) Fftrmam foremaor (D) i e

107.) Wetted perimeter of a regime channel for a discharge of 36 cumecs as per

Lacey’s theory will be
et g 5 IR 36 T 5 P 35 v g e 61 R vt
(A) 20m (B) 285m  (C) 30m ®) 70m

108. Silt excluders are constructed on the
(A) river bed upstream of head regulator. .
(B) river bed downstream of head regulator.
(C) canal bed upstream of head regulator.
(D) canal bed downstream of head regulator.
HIE 0TS e l:
(A) TG PR ¥ SRvare 7 T (B) 79 e 3 s T €W
(C) T@ frams % wfarg TR (D) 7@ T & Sran TR T

When the reservoir is full, the maximum compressive force in a gravity dam

is produced .
o (B) atthe heel.

(A) at the toe. .
(C) within the middle third of base. (D) at centre of base.

mmﬁt,ﬂWWWmmeﬂm%:

(A) 2 (toe) T (B) ¥ (heel) wt

(©) s e forerd & i (D) 3R % ¥ T L
B 1-!Cmilnm:..:n::.+uiﬁ=ﬁ'ﬂ'1—'1’5""""’“

109.




Use of Slﬂﬂ'ﬂ) and stltq i

B |
ith List-II (L8
tone) With LIst-I0 S icts ¢
I1o, Maqch List-l (N!’“‘lf{csodﬁ slv:i'llbclnw the fi
Correct answer UsIng List - "
List -1 omamental wor
b, Gﬂfc é Bﬂ“;‘j: tone work
- Marble " Rough$
¢ k- # ture of cement *
& Cheme 4 Ml ) fremee 3 i GRUAE TS
-1 (qeert w1 ) A -1
T w @ w A IWIN o
-1 _
a, ﬂm . wr
b. mEm 2. ¥R
C. o 3 Fﬂwﬁ
Codes /%2 :
a = b ¢ d
A) 3 | 2 4
By 2 3 ] 4
C) 2 1 4 3
-— (D) 1 4 2 3
L construction are classified based on strength p
718 fﬁ%ﬂnﬁ i:nlrslrll@tgs:ggrding to their d:sLant!nn L1, L2, HI, H2, M)
2. The correct sequence of increasing order of their strength 1S :
Ry frmfor 3 sy Brema &1 1S : 2250 RIS : 1905 T
L1, L2, HI, H2. M1, M2 92 & a@rffapa i 1 & | 399 @moredl & g #m
a8 s k
}AJ LI.LZQ.HI,HI,MI.MZ SB; L2, L1, M2, M1, H2, HI
C) MI, M2, HI, H2,LI, L2 D) L2,L1, MI, M2, HI, H2
112, Assertion (A): Use of cement lime mortar is generally preferred to cement

Code No-

mortar. ) i
Cement-lime mortar has higher workability and water

Reason (R) : nt. r
retentivity characteristics than cement mortar.,

A) Both (A) and (R) are true and (R) is the correct explanation of {A).
SBR Both EA} and Hﬁm true but (R) is not a correct :I;tplanatinn of (A).

(C{ {Ag is true but (R) is false.
(D) (A) is false but (R) is true.
a:ﬂrmw:ﬁmﬂavmﬁﬁmmwmtmﬁmﬂ

L
1 (R) : ﬁ- Irngﬁﬂ;ﬁﬂzmﬁmﬁmmmmmﬁ
|
(A) (A)3M(R) 31wt otk (R), (A) ¥ 9 Efwm R |
(B) (A) 3 (R) A wfh
® Nt 'W{R]mﬁ?mm)ﬂwmmtl
(D) (A) TR, TG R)ymhR |

T C-685/2021/Series-B 74
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T v e e 4 2 g, g Pem =
168,
T 2.8 8 3 B Rema & ;ﬂ“%mﬁﬁtﬁmm
%1 I b - & e -
(A) 25% (B) 33(%)% ©) 50% (D) e
114. ‘If(ing closers are related to
A) door and windows : st truss S
(C) queen post truss [EJ ﬁ?fkp;asnnr}' “ L gy
R Feirae (V) e TRy WA
W) TN () gl o
(C) wred ot &< (D) #Zﬁ‘ﬂi PR b
115. Match List-I (Type of cement) with List-II (Characlﬁl'im“) and select the %
correct answer using the codes given bejow the lists : W g
List-I List-11 A
a. Air entraining portland cement |. Suitable for very large structures, 93
b. Low-heat portland cement 2. Unsuitable for very large masses ‘'
of concrete.
¢. Hydrophobic portland cement 3. Greater resistance to frost atack,
d. Rapid hardening portland cement 4. Safe storage under unfavourable
conditions of humidity. R
qeft-1 (= %1 whr0) W ge-I1 (Rdveend) B Premge ofie g & R o
Fe B Tl ITH1 77 HF ;
W'I @'H { |
a. o I GRS Wi |, I EEa & T
b, Fie Fem WEdvE Hie 2. ¥R F AR q G F R
HITIH
c. e qdevg #HR 3. fimuma % wfy 3= vl
d. ¥ Far v i 4. o0 ) g oifRafoe & e
U
Codes / §2 :
a b c d
A 4 2 1 3
@ 3 4 1 2
(C) 3 1 4 2 7
(D) 4 I 2 . 3
S ——

=]

(@} If in a concrete mix the fi

fineness modulus of fine g
fineness modulus of combined

neness modylus Of cﬂm::nnnmicn '
Beregate jg 2.8 and th° en the proportion of fin,

aggregate is 6%

gate is 7.6
agere | value uflh‘

25

Code No, : C-85/2021/5eries'B
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sk work expected from 8 Eﬁ?ri‘;ﬁf; :;:l‘il*]is legy,

(l 15' don (A) ¢ The m;imulcly 0.8 cu.m) 10 walls in su I 1""!11.1

JAR m (’P,,FS cu.m in one brick or thicker W : vk Persyp,

I Quunﬁ“)’ of -::Icmcnl r:n'nzr i:" alf-brick WOrk g ),

H ared 10 one-brick will. .
:r:;ur:gnﬂlﬂ whﬂﬂl:;'i; true and (R) is the correcl cxplanatu:tn of ( A
yand (%) rue but (R) is not a correct explanation of

(B) Both (A)8™ (0 false.

Fftrwua (A) ¢ .
Ligifos bl ?ml Ezqs cum® |
mﬂﬁmﬁ%mtﬁﬁthﬂ@ﬁmmh
(A) (A)3MR (R}ﬁa’fﬂﬁ X (R), (A) %1 7€ T e
(B) (A)3 m)aﬂuﬂﬁ, W (R), (A) 1 G TEH
©) (A)w@t, TR Tﬁ 33 |'

(D) (A) e d, 7F R®)
117. Match List-I with List-Il and select the correct answer using the codes piy,
below the lists :

List—1I1

List-1I
1. Soft wood

a. Deciduous.
b. Conifer -~ 2. Hard wood
c. Endogenous—3. Eucalyptus

4. Bamboo

d. Exogenous
#ﬂiwﬂqﬁ-nﬂgﬁfmmm@ﬁ%ﬁﬁqﬁﬂmmﬂm
g -1 g -1

e
—
i R—




118.

119.

120.

Blast furnace slag has 8pproximately

(A) 45% calcium oxide and abouy 350, silica

(B) 50% alumina and 20% calciym gxid;

(C) 25% magnesia and 15% silica

(D) 25% calcium sulphate and |50 :
mﬂzﬂﬂm-ﬂﬁﬁﬁmtm:;m alumina ﬁ
(A) 45% feeam ITRTEE 3l w1 350, fufere

(B) 50% YT 3T 20% Hfewan wtwares

(C) 25% ffimn 3t 15% fafram

(D) 25% Hfewan wehe 3R 15% Amften

Match List-1 with List-II and select the correct ansWer ysing the codes given

below the lists :
List -1 List —II
a. Fatlime g 1. Calcined dolomitic ston®
b. Hydraulic lime .~ 2. Calcined limeston¢
c. Quick lime 3. Kankar
d. Non-hydraulic lime 4. Sea shells
ﬂim@_uﬁmmwmﬁam@ﬂﬂﬂﬁﬂw
-1 -1
a. YR 1. freefim Semmge T4
b. A 2. Frefim gm-ver
c.  HATHAE 3. W%
d. g A . 4 T
Codes / $< .
a b c d
(A) 3 4, 2. 1
® 4 3 2 U
C) 3 4 l 2
(D) 4 3 1 2
Due to improper cutting of the branches during the growth of the tree, the

defect caused in timber is |
(A) Shake B) Rindgall (C) Twisted fibre(D) Burl

g <6 g e o e e 6 T S ey Qe 1 ¢
(A) ToH @) wew R (C) = wra (D) s

27 Code No, : C-6as/20z1/5eriesB



. A
jaced such that the gr

ains of a layer are

¢ venee®® . jayer below it.
3 layer below iL.

(A) lt-ijﬂtﬂlhggfniﬂ ,}r:rhelﬂ:’lil‘ |
: ghlﬂﬂﬂl ins of 8 layer below it a;m!ﬁi:
00 to the 87 y@R @ e & f& 7
i m;;ﬂfaﬁ'dﬂ(‘{m;t:lﬁigﬁ“ﬂ (B) mﬁﬁaﬁﬂmzmgﬁﬂ*m
(A) Wﬂ‘wgﬂmq‘ (D) e Pl 7 180>,
(1

5
&

%j
2

121,

(C) frerel .
- Wwires {0 Increase ,
122. ijs are I'I]H'd: on St:::ﬁsiuﬂ (-B) su-ength i'[] tFﬂSIDn
mp (D) fatigue quality

" (A) su':lcllgthiﬂ“l; :
(C) bond strenf feg AT STt € 7
Her aril —k L ; orify
(A) m‘\;mﬂf @) I - © i e

g water to quicklime in or
calcinations (D) slaking

der to convert it into hydrate

123. The process of addiP

lime i kmown 23 ) hydration  (C)

(A) q‘%“%“fw%maﬁmﬂwﬂﬁaﬁﬁmwm%?

gt . @) @ () ferm o (©) ST
ment causes

124. Addition of Pozzolana to Portland ce _
(A) increase in heat of hydration.  (B) increase in early strength.
(D) All the above

C) increase in water tiggl;iﬂﬁ-
itz i Qe e & B 8
(A) Feraiem o i gfa B) v wwed 3 gig
(C) e de-gwen A (D) et
125. The pigment used to produce coloured cement. Which statement given

below is wrong 7 _
(A) Cobalt oxide to get blue colour.

(B) Chloride oxide to get green colour. \*
(C) Manganese oxide to get brown colour,

(D) Aluminium oxide to get white colour.
s S A 3 e i o o & 1 12 o e e e e 27

(A) e T 9T TS R e RS
(B) W@““*ﬁﬁmm
(C). 01 {1 911 T 3 o theer e
(D) e T1 3T F 3 oy wegfirfram sifarmse

-—l—'-'-—_-_ e,
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! “’If m_fgl 5
126. The ageregate s called comp!®=iipy)y 4,75 Mm gje,
F m sicve {B)t c]z m",'.'EBT'-‘EIHﬂ “'lé I::lm 8l :"!rﬂ 2

fereman wwenm Sleve (C) il
(A) ZUmmFHTﬁ 2 o e @ ey

o mim e

127 s.g'g. %mm fth ‘I;I EI[}]; 1315 m gncrﬂlf-’?
+ Which one of the follo i

Blgger size “EBI‘E;;P 8 yiclds more wnrkﬂh‘

S With rounded shﬂF":'I'
rsmc aggregates wilh
Bagl ler size aggregates J.- fﬂ?&:{ﬁ;ﬂ“ﬁc ape’

mall:r size aggregates with angular shape

TR T g 1 TN
SRR e

o (E?m\cfagnﬂ:;m i M:d h:f adding ‘wi{utg lead of zine 10 (D] Nnn: of these

g W GTUHT stercne C) qu 3
@(h) A (B) iR %;Tﬂiaﬂz ®) “ﬁ i

Polymerization is the process of

c.
combine monomers to form a large chain-like “lf;l:,lle
combine monomers to form a smal| chain-like MO

break a polymer into a number of small monomers.
break a polymer to form into a rc:u;nl;lcr of long MONOMETS.

ﬂ!?l’ﬂm

(A) &3 x@en A 31 T F e wwmert w5 E

(B) ﬁ%maﬂm ¥ ¥ fa 1 AEAT

(C) ﬁmﬁmuﬁmﬁ LIES)

HETTH I % T THeTwi
130, ﬁa)tcﬁism : Lo

List -1 List - 11

a. Exng:uuustree 1. Grow inward
Endogenous tree 2. Cone shape leaves

¢. Deciduous. -——3. Broad leaves

d. Coniferous . 4. Grow outward
@—I' gl -1l

a, WiRWT 9w 1. IH amafy

b. =rota 9% 2. W% AR &I afeat

c. ofareh 3. <t oRral

d vyl 4, wECH NI

Correct code is :

gl
e 3§ 9

3103 3
4 [

2 4 1 3 2.

— 29 e ————— i B




List =11
Its influence on the

13 s
. Maich I;:u 2 UFC s -
CnmP“'"d i | First (O react &scl n
S 2‘ gesponsible for 28 days ﬂllﬂﬂﬂ i
:. gzs 3' R,,-,sponsiblc for increas€ 1N strc n
o c] AF " gfter 28 days
- 4 Inactive compound
d CA
Hfvrg! firemiT : g -1
- iz 5 1o Y TN
OPCHIME o s o o
:' gz: ) zsﬂﬂ%mdtﬁ!umrim
4:. CJAF 3 Zﬂﬂﬂ%miﬁmﬂq& et
v 10 I
d. CA 4. P o
Correct code is e wﬁ-";.,
Fﬂ‘&:ﬂ \ : y J;% i I o
(A) 2 3, 4 l- AN
(B) 1 21 3 4 }
© 4 3 2 |
(D) 3 2 bk o]

133.
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132. An identified source of imigation water has ions concentration of Na++,

Ca++ and Mg++ are 20, 10 and 8 milli-equivalent per litre respectively.

Then what would be the Sodium Absorption Ration (SAR) ?
A) 8 6.67 (C) 5.67 D) None of these

o & ferg #in § Natt, Cat 3t Mg™ #) 3w 9w
20, 10 3t 8 foreht g st ftex & | v @i rereie SraTE (SAR) #1 BV 7
(A) 8 (B) 667 (C) 5.67 (D) wH & 7

Eﬁﬁm t;:::nmﬁdjq in India is 82°30' E. If the standard time at any
longitude of 20 °E wnuldﬂ;:nutcs, the local mean time for the place at a
mﬂmm“‘“}"‘-ﬂwo*ﬁt | ¢ et w1 @ s @ 20 T
wﬁﬂzﬁmt,mmm“%mwmmmm

(A) 4h10mPM (B) 4y p (C) Oh10mPM(D) 4h20mPM

——




134

A reCtangular plate surf; the vertic
a g in al
plane in water. Whay wﬁf ::2 Wide and 4 m dccllﬂ “;Tn,, of centre gf
E::;Susﬂ on the plane syrfy, WI]:JIBI pressurc & EPO : h.-,-,;nzﬂﬂtﬂl and
¢ides with water surface 9 N its uppef kg/m’)
T AT (take p= 2 1000
71 T8 5 e e oL &t § 14 T F 20 o
Wﬁﬂmtm:?mqi 73 ) gy e B
(A) 160kN,2.66m = &~ 10ms, o= 1000 ]‘sg’lmm
(C) 140kN, 2.1 m Eg]) gg kkﬁ : 4

135. | If the load stresses are 24 kg/cm?. are 30 kg/cm? ang

137.

- frictional stresses are 25.5

uessﬁ
i kg/cm?, lhc:a:upt::tg :uuld be the thrl:lg f;i::l"l’m
‘ m? summe
b ST Sy e Bkl
cm o %
(kg/em2) 3 =0 8 7 W F

(A) 24 (B) 54 (C) 28.5 (D) 57
Find out the correct pair(s) -
List I(Waste type) List I1{Dustbin culour)
I. Plastic Blue - |
II. e-Waste Black
[II. Human anatomical waste  Yellow “
IV. Kitchen waste Brown
bl £l LS = i
1 WH) ~ I1(wET-92 1)
. wnfe® #en
II. e-3maf3re HIen
1. wre vkt 3mfie den
Iv. @ e v
Correct pair(s) is/are :
T gm R/
(A) LI, (B) LULIV (O LILULIV (D) IV
S

If the two parts A and B in a system are considered to be in equilibrium and
having thermodynamic probabilities W, and Wg, what will be the

thermodynamic z{amhabll 3x{mf the system '?

fet 7 o B TR ¥ TR IR § ol syt wivwa
?aﬂ!wa | 3 Y TR ST 1 B 7
(A) W= wh Wy (B) W= W +w

i
e e s, — e




g its centra] Fadiy
2l

\ fa
138, fe centre of 881 ?
nd‘lzuf:nnctﬂr ﬂwmmﬁmﬁthW%qqg?;ﬂmt
g &M 20 44R - (C) OSR (D) 0. |
(A) 0.3R (8
l -kvl : |
gﬂ'l and v is ?g]ﬁc"y

139, Expression (8°")/ {':::n] | is time, m is mass, / is len

Where g is accele® " e will be
s @M

. =-kV T
me‘t“Jffﬂ“zlt 7o 8, e & v AT R S.L 7 “k" ) g
(C) wie! (D) !

w B E!'G'Tﬁ, gl b m
ndicated that a 0.02 m thick

(A g B) T

!
140. A dometer test in the laboratory i

| cla;msnp‘:zlj'dms: took 1.0 day to undergo 90% consolidation. How many days

a 2.0 m thick identical clay sample sandwiched between sand layers and

increment take to undergo the same ?

subjected to an identical Stress
(B) 5000days (C) 1000 days (D) 10000 days

(A) 500 days
ST ezt ThEw % & f% 0.02 m H& g
ul %tﬁ@z.ﬂmﬁm%
farem &7 w2

90% w3 farg 1.0 A & | ey vt :

T R ey v 31 & T F1 7 FIAH

(A) soofem  (B) so00fm  (C) 1000R" (D) 10000 f&m

“141, The water table in the deposit of sand 8 meter thick is at depth of 3 meter
below the surface. Above the water table sand is saturated by capillary me

water. The bulk density of sand is 19.620 kN/m’. Calculate the effective

pressure at 1.0 meter below the surface.

8 izt WY wre] fAa i o reree wae & 9 3 e A e w R | ol JeE
& FR YT Hilrw IA 7 Fg R | F& H H&A 97 19.620 kN/m? R | Faw

& 1.0 Hiet A2 yoreht g ) o r
(A) —19.62 kN/m? (B) =20 kN/m? (C) 10kN/m? (D) 19.62 kN/m?

142, A soil sample has a porosity of 50%. The specific . a5
; S vo il gravity of solids is 3.0.
What will be the unit weight if soil is 50% saturated ? (Assume unit weigh

nfmff;;fr %lﬂkafmJ_}:l

il T 50% 8 | w1 e e 3.0 4 o g 4
wﬁmwﬁ’g?mmmmmmﬁmﬁq?) R 0% 7

(A) 17.0kNm® (B) 17.5kN/m? (C) 18.0kN/m3 (D) 17.25 kN/m’

— e —— "

ll“ﬂdl‘ﬂm of a circle lies alon

(D) Joule!

T C.685/2021/Series.R
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tﬁ.‘ Use of Neem for coating

(’f’:

npes: pick up the 1N%0Meq

/statement of ureq
e of ured helping Plam,

(A) Neem coating leads ' S many advant

in MOre nutrient ang r 01 ens
B Elnccm 8CTVeS as a nz?l?r;f’!"hingufﬂﬁi!n:: ;icldﬁ-

%C Collection of Neem Etcdu"}'ﬁcmmmel . ing of Neem Coatey

urea. This would genera(e cll Needed for many

- In a Stokes’s experiment of falling sphere, it is found (hat a sphere of 5 mm

diameter falls in a liquid with termi : m/s giving a drag co-
R rm 20 mm/S B %
cfficient of 240. The ratio of SPEci"rl:-_l ;’:;::g < 2.85. Which one of the

following is the kinematic viscosity of the liquid in stokes 7

wwe & wifem @R % yam § fp 5 mm @ F T e
EOmMEEﬁﬂEﬂﬂﬂ;aﬁﬁm_t,u;‘Eg‘ & 2 ¥ | A T =
3T 2.85 ¥ | Ve # z8 6 yghes v A AsAdR?

(A) 3.5 (B) 100 (C) 1000.0 D) 225.0

” |
Find the energy thickness for velocity distribution in the boundary layer
‘given by uw/U=y%/8%, where u is the velocity at 8 distance Y from the plate
and u=U at y= & where & = boundary layer thickness. :
Wﬂlfﬁmﬁﬂimmiﬁnﬁmﬂtfmﬁﬁ rersal yma Hifan, 7@
uﬁzﬂy‘qﬁﬂtﬂﬂﬁaﬂty=ﬁﬂtu=u.3ﬁﬁ=mmm l
(A) 48%21 (B) 35%21 (C) 28%21 (D) 8%/21

16% incompressible fluid (kinematic viscosity, 74 * 1077 m?/s, specific
S/

gravity = 0.88) is held between two parallel plates. If the top plate is moved

with a velocity of 0.5 m/s while the bottom one is held stationary, the fluid

attains a linear velocity profile in utrhfe gap ?f U.Slmm_ between these plates;
in Pascals on the surfaces ol top plate1s

?ﬁ’mﬁsﬁ ( w74 x 107 mY/s, Rflre = 0.88) @

mﬁﬁ%ﬂamtluﬁmﬂ@?ﬂﬂ.sws%&nﬁ a2,

mﬁﬂﬁﬁtwmt,ﬁmﬁ‘ﬂﬁ%m 0.5 mm e T

(A) 0.651 x 10-3 (B) 0.65] (C) 6.51 (D) 0,651 % 10 4

—
— e — — —————
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148,

149,

150.

Eﬂaf- HU.

1 d E- ri!sl
-hinged arch of span 28 m an ¢ of

mentd! U oringing. It carries a horizontal load of 1gq \ M
;nd SPrinBINg The horizontal thrug 'i=nN:1:'

hinged ot the o nt of the arch on right side.

coveing ! ilbe o e i e T Y
yringing - A -
-lf:};w:lf??‘:l ?ﬁiﬁd ) smafa H@ 5100 N;mTIT
fsifiym !lﬂﬂﬁtmﬁft‘:ﬂﬁ‘m" w A R e - o
A @ T L T700 N (C) 400N/ (D) 200 N/
(A) 100 N/m ( ent
%o tren required before we fed the wy, n |

Pick out mc'incﬂﬁuﬂ_ no treatment is

(A) In rapid S8M% ' Glter. .
to the rﬂpﬁgt}‘:ﬁﬂ, loss of head is less as qampﬂred }D l'li_lI;ISd sand filte
(B gy 5l:jnl'lllf::r ‘< less efficient in remoVIng the coloul &5 tOMpareq |,

- er.. . oo
rapid sand ﬁ;{'['ccliﬂﬂ is required in slow sand filter.

(D) No post dis! '
v A o foelt ITER A 3z

[
C

{0 mm in the plate load test on

A are bearing platc settles b !
cnlfe%igmagusuil, when the intensity of l¥le loading is 200 kN/m=.What wi|
be the settlement of a shallow foundation of 1.3 m square under the same

intensity of loading ?
i qz:ézmqﬂmmﬁqmmcmaﬂfﬂfmﬂﬂ'ﬂzmmmm

HEIEH 9T
wrﬁaaﬁrris,a-mmﬁamzoumfmltlmmmﬁaml.a
mﬂﬁﬁgﬂ?ﬁﬂamﬁmﬁﬁmm?

(C) 15.5mm (D) 20.35mm

(A) 13.52mm (B) 12.50 mm

In centrifugal pumps

I.  Efficiency s Iﬁh' _
1. Needs smaller floor area and installation cost is less.

[II. Cannot be used for lifting higher viscous liquids.

Correct code s :

(A) I, ';_;néy: (B) I,1MMonly (C) 1, 1llonly (D) Allofthese
|| TEaIHR

[, e & R v & 3N e v e R |

11, IO M 531 F e & wam 7€ fFm S wwar k|

LR TR
(A) F@ELIL (B) Fa@ LMl (C) Fa=ll,m (D) ¥&f

—

I — e —
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W c-
hite 010 i on arrows
th ck b kg;mundl“ T-lilﬂd hite dlfl.'.i:hu
D) etanguiar in shape plue background 20 Jng and ¥ n
feom fretor far a4

(A) e T2 3 aer wnfer e o
(B) Freh gy % umy Wﬁqa;z‘mfam A
(C) Heh ™ jan mmﬂﬁ

its functjpp
152. If we completely remove an ecosystem
will be adv%rscl; affected ﬁguﬁiﬂm]}nsﬂrﬁ from

A) Rate of decom sition wil| ;
Bi Energy flow W?ﬁ be I.'mh:uf.'llclv.:ntll:'le very high

?Idv;?bm mnv:_went will be hinclged,

F’Ewnres wi _n:_:t gccwt sun‘ll:”lg%hm = %gﬁmﬂﬂ“ﬁ'ﬁm
& s g i & < |

(A) HTees hq 31fy 351 gnft | (B) gl JTE IR grea TH S |
(C) @l woe arawg 8 5mm | (D) vt - STERT

|

153. The rim of a flywheel is sul;jﬁ:l:d to
A) direct tensile stress an bending stress. -‘
torsional shear stress and bending stress. |
direct shear stress and bending stress. '
compressive stress and bending stress.

- EpiC] '
(A) woaes a9 Wit ai a5 wfrm a
(B) e 7w wiaret afv wera whrwe ;
(C) v ¥ Fqw9v yfaaet 3R s wims

(D) uite wfeas 2k 591 wftee

' tch is preferred over rectangular notch because
e Tﬂn\.ﬁu&ﬁﬂ[}?ﬂn of tll?iangular notch is required in triangular notch. ‘
ng in case of triangular notch, only one reading is required for computation

ischarge. '
%C; ?{Eggl Far notch gives more accurate result for low discharges only.

o 2t ot Rt e ) a4 i i

ELEIENEIER ] T &1 GO IEAHF |
(3) P 1w 1 R, Frecon 11 3 e g s 4
(C) mﬁamﬁnﬁm%mmmwmt :

(D) ¥ & P TE
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155

156,

AS7.’
»

] [ d to be
ured with a 20 m chain wnslcliﬁ;l“ A w‘:;:ﬁ my,
[ength of 0 lin¢ :;Ithnl the chain was 0.05 m 100 be he
. g€ 9mm
W"”ﬂemﬂfm‘""”wﬁmmmuﬂni|mﬁ 0 B 5

leng @
ol c:ﬂlm““‘m,mwﬂﬂlmfm:ﬁﬂ'n? (D) 399.05

20m i
0.05 m it {B]‘ 401 m (C) 400.05
(A) 399m rs) with List-Il (Units) and select the correet gng,
Match ua:;l g:ﬂ’n below the lists:
using the ¢ : List =11

Llst - TON
a. Turbidity ? TCU
b. Pathogen ITU
¢. Odour e PN
d. Colour 4. M # Hfo ﬁt‘!ﬂﬁﬂl*:ﬂ%ﬁqm_iﬂ
gt -1 (ﬂﬁﬂ]‘?‘?ﬁ;!l (e 4 e -

g HIL -

| ot I H -1

-] TON 1
i m I TCU y 2 . \ u“f‘ {
b. W 2 ¢ WO i
c. Y 3. JTU w%”fi
d. o 4, MPN (4 o ¥

aM -

Code J"F: x_a}z_ :

a b c d y ‘gf\ﬁo
(A) 2 | 4 3 . },P
B) 3 1. 4 3 R S

v

© 2 4 1 3
(D) 3 4 1 2

A square pile group of 16 piles penetrates through a filled up soil of 3 m
depth. The pile diameter is 250 mm and pile spacing is 0.75 m. The unt
cohesion of the material is 18 kN/m? and the unit weight of soil s
15 kN/m®. What will be the negative skin friction for piles acting
individually ? (ﬁ;l::c reduction factor m= 0.4)

16 TET 1 T FH et TR 3 m TR Y31 WO A wauw e | W
250 mm 3R TR =7 0,75 m B marﬂgmrhiﬁm 18 kN/m? 3 @ ¥
FHTY T 1S KN/m & | qores w9 @ wieiver arer 3 Ry swoes e O

._._._..-r"
——
— ——




| 158, A wall surface of 200 Dt ths ure of 50 °C ang
| ) AV L :
| I'_lns'd'-‘- temperature of 25 “lé“f,,,]?l:“ has an outsid® .t:;lypf,f 0.51 W/m-K, the
r q::tzmr“ through this wall wij| ?:t“'"ﬂl conduct
50 ﬂcmamm%“ TN HA W 0,5 1;; sufyg TR i
(A) 63 7 T 25 °C }, g o 8 8 IO 0 95 Wi

159. Steel unit generates which 7
of th N ts
(A) Particulate, smoke, CO 1 ¢ following Air Polluta™ iculate, smoke

(©) NO,, 5O, particulare | * () 50 N s
e T 8 2 a1 s e Sk P
(A) ﬂ;ﬁ[ﬁ'ﬂ, Eaﬂ.n Cu,qﬂ [B} S\DPNOE’W’E
(C) NO,, SO,, #frfig D) so., 71 T

e. It has 20 equal

160. A vemni | in scal
ter callipers has | mm marks on the main S¢81° o i For

::lt:}risiuns. on tlini-. vernier scale which match with 16 main 5

1S vernier callipers, the least count i

T T et 3 0 4 0 1 4| e e ot 20 TR AT
16 73 45T W] 3 wer R | ¥ 2 refia & for eI &
(A) 0.02mm (B) 005mm (C) 0.l mm (D), 0.2 mm

7161. In connection with a gradually varied flow with notations Yo = normal

t/- depth, Yc = critical depth and Y = depth in the gradually varied flow, match
list-I with list-II and select the correct answer using the codes given below
the lists : :
T Yo = AT TETE, Y = SR med af Y = A Tl yare § e
¥ BT ShwT: qieEdt waTE % Ty ¥ ge - | 9 g - 1R e Sy

2 few o e @ T IR F T AR

List /g -1 List / g - 11

a. YcYorY 1. Ml

b. Yo>Y>Yc 4. S3

c. Y>YcYo 3. M2

i Y>YoY 4 Sl e

Codes / %2 :
a b C d

(A) 4 1 2 3 :

(B) 2 3 4 1

{C) 4 3 2 1

2 ! 4 7 i L
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icity, modulus of rigidity
modulus of elasticity g rﬂﬂllﬂnship hﬁ? dt

and 10 .:ﬁg of the material, the fo

lﬁz ’
. IfE, N, & ,
mo&uluﬁ and Poiss" /m)
good : .(B) E=2N(I-/m
(A) E-SKU—'Z"‘“} (D) None of these _
TR, ATIAT Ty v

165. .

Ea.g-ﬁﬂ. :

) :
(C) Both (A) and (Bw.f F TRTEIAT WG, Fo
|/m 51 ST AT R
%E'%:ﬂaﬂ E 1 = 2N (1-1/m)
= 3K (-2 ® aawid
@) E 2 (D) FHA

(©) (a)M @) .
petween the flange angles of a plate girder, Verticy]

- If d js the distance distan grea th
; ce not ter than
yided at 8 t less than 0.33 ¢

stiffeners are Pro (B) 1.25 d but no

0d

(A) d but not less than 0.2 i i

(C) 1.5 d but not less than 033d (D) 2.5¢bY :

ngdm@zmtiﬂ“ﬂﬁ*ﬁﬁﬁlm _ ¥ s

R ygA Ry | .
F‘ﬂ) d g 0.20 43 T (B) 125d%g0.33 d;f'ﬁrqﬂ
©) 15dwg033d =T (D) 2.5 dwg 0.50 d 8 FA T
» Aquicludes are _

(A) Permeable formation/ (B) Impermeable formation

(C) Contain water (D) Both (B)and (C)

(A) T P A E @) s fmmEadl

() Fwmgmt () (B) ¥R (C)3 3
T

The following data pertains to a sewage sample : W\ :

Initial DO = 5.0 mg/]

Final DO = 0.5 mg/l

Dilution to 1.0% ' \

The BOD of the given sewage sample is 9 x-F Vo

forer artend Hies A &t & \ ,f/;c;'\ U

TR DO = 5.0 mg/] ~N s

sif=m DO = 0.5 mg/] f,({': )

|.0% e a3

frq Tq 14 A 1 BOD B

A) 50mgl  B) 25mg!  (C) 250mgr (D) 0.025me

o C-685/2021/Series g 38 SRS =
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ﬁ To
{ s f[]re benr:
7 back g TN of g line | ;tion
(A) S;;g:; Eﬁhe line wnsl]iw"z‘w (o local 37 [ the
TH H‘I‘ﬁ 7 am (B) N39°42'E (C) NSUuIHrE {[);ﬂNﬂHnT;qﬂm ;:';
R Rt " N39°42'W!{a$r§mmﬂ3“m i

1S 1h¢l"¢]'1 lhu

(A) S3gogm ‘
S39°42 (B) S39%ayp . wgp @ 7 B TS T

167. Syenite i ©) st

(A) P]U[Dn'

(C) Vol o (B) Hypabyss?! il

?Tﬁtzt e (D) None of tese

A) Tl g

C (B) sefurfaered I

(©) Sremeft s e D) g BT

168. FETTHEIIDH of mﬂumﬂll'leuTEgulanugs on the Eaﬂh‘s crust arc based on
EC; ED_Slasy theory (B) Convection theo™
—qﬁ'&nft theory (D) All of these
T R et/ rfrafirernait w5 Rt fg g smaie £ 7
(A) TR RGRI(B) Fae g (C) sy @ (D) TR

169. Hade is . ’

(A) Inclination of the fault plane with the vertical. |
(B) Inclination of the fault plane with the horizontal. |
(C) Inclination of the fault plane in any direction. ﬁ%
(D) None of these |
IR

(A) T H FETR AR (B) = A éfers sAf
(C) <y = ) foeht oft e & amfe (D) v @ =18 T

170. Bauxite is
(A) Hydrated aluminium oxide having dull luster.
(B) Hydrated aluminium oxide having shining luster,
(C) Hydrated aluminium oxide having vitreous luster,
(D) Barium sulphate having vitreous luster.*

wieaTge
(A) H I el e gt Fiwes
(C) e I A FeATd HIFHIRS

(D) HTETY THE I ARIH Tehe

o I
= ¥ Code No, : C-685/2021/Series



